14 4.1

C‘r“ 10000 -

q = 5000~ j
qusooo-

40 3; 8'0 1oo'1io 140 A A[

xX
4.2
jz
.
\—'—-/L'—/ A /\L
‘C:r‘ﬁ i_. § !:'i;l/l
“___/:7‘—/] L A
s L= A
S L I i
I i
/./"_/'_. /sh!
X
4.3 4.5
4
QL
|
*
y (3
¥

Lineair programmeren Havo wiskunde D werkblad 1



8o

bo /

v i

/
N
0 N i
NNl A S
N L~
4

S

N

5.3
b
T
702
300 - —\c)"k OOO;L/
\\1*‘—’ ws 6000
"o \ ﬁ\\__//l )y 6000‘:0
Io) - .
NI @,r""’o o
N~ | \A,‘\'o Ooo
oo IS )
\K \\__/H' S
o} 100 200 300 400 | 500 6oo X

Lineair programmeren Havo wiskunde D

werkblad 2



bouwplaat bij opgave 4.5

Lineair programmeren Havo wiskunde D werkblad 3



